o2 193} Zo] AD//BC 1 SHANEE
ABCD 94 CD = 6cm, AD = 5cm, ZA =
120° ¢ w, cABCD 9] 9] do|& 5t
o2},

B -




2. the 1% pABCDE AD // BC 9l SHAHe]Zolt, AB = 6em,
1 o B
AB = AD = CD, AD = ;BC wl, BC 2] Aol g 3}oet.

A D




3. o2 193 Zo] AD //BCQl SHAL
6, CE=2, /ZABC=70°2 o, x, y9] gt&2

® x=15° y=12 @ x=20°y=38
® x=30° y=8 @ x=30°y=10

® x=20° y=10

th2]& ABCD 7} Qith. AD =






A D
&
O
B C

AP ABCD 9

3

R

o
il

Yt Zol

©
)

ot

5.

sfof

57

A BD of W&
. BQ = llcm,

~ qw,_

Z

=
o, PQ ] Aol
cm

oA
Q =t
o]

@) a; g
< oy 2 ..
W un

=
ymﬁ@% a3



Tht= S E, CD 9] A4 3 whib= HS Fakal gtot AB = 6em,
AD =8cm € ), x, yE At E oot

F
A8

e
/

the I3 22 FYPAPHY ABCD o4 /B 9] o]5E40] AD 9}
o]

6

/

I

\ Jo

(o]

B~~-y_--"C
aa:x: cm
aa:y: cm



